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  a¹yyn (nOp(t:- 1.vAt&ai[n&>  a>diJt  vjn  kr[  C[  an[  sidi  #iijvin)  mddY)  hlk) -  Bir[ vAt&ai[   

                        n±k)  kr[  C[. 

                      2. vjnni>  nini-mi[Ti  p\mi(Nt  a[km {g\im-(kli[g\im}  smj[ C[  an[  $pi>tr  kr[  C[. 

                                    3. vjn  an[  $(pyi-p]sini  ai>tr  s>bFi[  Frivti>  Äyvhir&  ki[yDi  uk[l[  C[. 

 p\Ån- 1. n)c[  aip[li  p\Åni[ni  jvib  miT[  yi[³y  (vkÃp  ps>d  kri[.   

{1}  1000 g\im  a[Tl[  ...................  (kli[g\im 

       {a}   10     {b}     1     {k}   100     {D}    1000    

{2}  aDFi[  (kli[g\im  a[Tl[  ....................... 

       {a}    500  g\im    {b}    100 g\im   {k}    1000  g\im    {D}    10  g\im 

{3}  n)c[n)  p]k)  ke  vAt&  mi[T[Big[  g\immi>  Kr)d)a[  C)a[ ?............................................... 

       {a}    Gu>    {b}   t[l    {k}    Ki>D    {D}    l(v>g 

{4}  n)c[n)  p][k)  ke  vAt&  mi[T[Big[  (kli[g\immi>  Kr)d)a[  C)a[  ?............................ 

        {a}    Eliyc)    {b}    ci[Ki    {k}    ci    {D}    s*k)  Wix 

{5}  Fi[rN - 4  g(Nt  gÀmt  piqyp&Atkn&>   a>diJt  vjn  k[Tl&>  YS[ ?.................................... 

        {a}   2  (kg\i   {b}   750  g\im   {k}    250 g\im    {D}   1  (kg\i 

{6}   3  (kg\i  500  g\im gi[Ln&>  vjn  krvi  miT[  n)c[ni  p]k)  kyi  vj(nyi>  viprSi[ ?........................ 

        {a}   2 (kg\i, 1 (kg\i  an[  500 g\im   {b}    1 (kg\i  an[  2 (kg\i   

        {k}   2  (kg\i, 500  g\im  an[  200  g\im  {D}   3  (kg\i  an[  500  g\im   

{7}  n)c[nimi>Y)  ky&  vjn  1  (kg\i  bribr  C[ ?........................... 

      {a}  200 g\im, 200 g\im, 500 g\im   {b}  100 g\im,  50 g\im, 200 g\im, 500 g\im 

      {k}  500 g\im,  200 g\im, 50  g\im    {D}   100  g\im, 200 g\im, 500 g\im, 200 g\im 

p\Ån-2. n)c[  aip[li  vj(nyi>  p]k)  ky&  pÃl&>  n)c[  z*kS[ ?  t[n)  n)c[  ¡  (nSin)  kri[. 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

(vPy - g(Nt    12.  k[Tl&>  Bir[  an[  k[Tl&>  hlk&> 
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50  g\im 
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p\Ån-3. n)c[  aip[li  p\âi[ni  jvib  aipi[. 

{1}  a[k  U>TgiD)mi>  U>Tn)  Bir  K[>c)  Skvin)  xmti  1200  (kg\i  C[.  U>TgiD)mi>  Ki>Dn)  50  (kg\i   

      vjnn)  3  g&N,  15  (kg\i  vjnni  t[lni  D¾bi  30  n>g,  ci[Kin)  25  (kg\i  vjnn)  20 g&N,   

      20  (kg\i  vjnni  bTikini  4  ki[YLi  an[  20  (kg\i  vjnni  D&>gL)ni  6  ki[YLi  m&k[li>  C[.  S&>   

      U>T  aiTl&>  vjn  K[>c)  SkS[ ?  an[  ji[  ni  hi[y  ti[  ke  ke  simg\)  ai[C)  krSi[.? 

 

 

 

 

{2}  1200  g\im  a[Tl[  k[Tli  (kli[g\im  Yiy  ?.................................................................................... 

{3}  2  (kli[g\im  an[  250  g\im  a[Tl[  k[Tli  g\im  Yiy ?.................................................................. 

{4}  50000  g\im  a[Tl[  k[Tli  (kli[g\im ?............................................................ 

{5}  dimJ  d&kindir  pis[  5 (kg\i,  1 (kg\i,  2 (kg\i,  500 g\im,  100  g\im  an[  50  g\imni   

      vj(nyi>  C[.  n)c[ni  vjnn)  vAt&ai[  ti[lvi  miT[  kyi  kyi  vj(nyi  viprS[  t[  lKi[. { a[k   

      vj(ny&>  a[k  j  vKt  vipr[  C[ } 

{a}  Ki>D  -  2  (kg\i  an[  250  g\im -  ............................................................................................. 

{b}  cNini[  li[T  -  750  g\im -  ....................................................................................................... 

{k}   t&v[rn)  diL -  3  (kg\i  an[  500  g\im -  .................................................................................. 

p\Ån-4.  ri[hn  dimJ  d&kindir  pis[Y)  n)c[  ki[OTkmi>  aip[l  Biv p#ik  p\miN[  vAt&ai[  Kr)d[  C[.  t[ni   

           prY)  p\âi[ni  jvib  aipi[. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

વસ્ત ુ રૂપિયા ૧ 
કિગ્રા દીઠ 

બટાિાાં  ૧૫ રૂ. 

ખાાંડ  ૪૦ રૂ. 

ગોળ  ૩૫ રૂ. 

ચા  ૨૪૦ રૂ.  

મગ  ૮૦ રૂ. 

{1}  ri[hn[  2 (kg\i  gi[L  an[  1 (kg\i  

an[  500 g\im  Ki>D  Kr)d)  ti[  k&l  

k[Tli  $(pyi  c*kvS[ ?  

 

{1}  ri[hn[  k&l  75  $.  c*kv)n[  bTiki  

Kr)wi  ti[  t[N[  k[Tli  (kg\i  bTiki  

Kr)wi  hS[ ? 

 

 

{3}  ri[hn[  250  g\im  cini  b[  p[k[T  Kr)wi  

ti[  t[N[  k[Tli  $(pyi  c*kÄyi  hS[ ?  

 

{5}  ri[hn[  2 (kg\i  mg  Kr)wi  an[  dimJn[   200  

$(pyin)  ni[T  aip).  S&>  ri[hn[  vFir[  p]si  ai¼yi> ?  ji[  

ni hi[y  ti[  dimJ  k[Tli  $(pyi  prt  aipS[ ? 
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p\Ån-5.  n)c[  aip[l)  pi[AT  ai[(fsn)  pi[ATl  drn)  (vgt  prY)  p\âi[ni  jvib  aipi[. 

 

 {1}  20  g\im  vjnviLi  p#i  pr  lgivvin)  

(T(kT  Kr)dvi  k[Tli  $(pyi c*kvvi  pD[ ?.............. 

{2}  200  g\im  pis<l  mi[klvi  k[Tl)  (k>mt  

c*kvv)  pD[ ?......................................................... 

 

 

{3}  80  g\im  vjnni>  p#i  mi[klvi  k[Tl)  (k>mt  

c*kvv)  pD[ ?......................................................... 

 

 

 

{4}  Cip[l)  Tpil  pr  k[Tli  drn)  (T(kT  ligS[ ?.............................................................................. 

{5}  si[hn[  20 g\imni  b[  p#i  an[  100  g\imn&>  a[k  pis<l  mi[kÃy&>  ti[  t[N[ k[Tl)  (k>mt  c*kv)  hS[ ? 

 

 

{6}  m[Gnia[  pi[ATai[(fsmi>  jen[  a[k  pis<l  mi[kÃy&>  an[  11 $.  c*kÄyi>  ti[  t[N[  k[Tli  g\imn&>  pis<l   

      mi[kÃy&>  hS[ ?  

 

p\Ån-6.  n)c[  aip[li  diKli>  gNi[. 

 

 

 

 

 

 

 

 

 

 

 

{1} m)nia[  24 (kg\i  250 g\im  

bTikimi>Y)  15 (kg\i  150  g\im  

bTikin)  v[fr  bniv).  hv[  t[n)  

pis[  k[Tli>  bTiki  v¹yi>  hS[ ? 

{2} s)mi  pis[  4 (kg\i  mrc&>  C[.  

t[ni  200  g\imni  nini  p[k[Tmi>  

Brvi  k[Tli  p[k[Tn)  j$r  pD[ ?... 

{3} a[k  d&kindir  pis[  12 p[k[T  

cviN&>  C[.  a[k  p[k[Tmi>  500  

g\im  cviN&>  hi[y  ti[  k&l  k[Tl&>  

cviN&>  hS[ ? 


